MATH-1850







Name ___KEY_________________​​​____

Alg. & Trig.  Skills Test









S.I.D.# ___________________________

INSTRUCTIONS: You must show enough work to justify your answer on ALL problems.  Correct answers with no work (or inconsistent work) shown will not receive any credit.  Put a box around your answer.  Each problem is worth four points.
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Simplify 
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Answer: 
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2.
Rewrite 
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3.
Solve  
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Answer: 
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4.
Solve  
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Answer: 
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5.
Simplify  
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Answer:  
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6.
Rewrite the expression  
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   as the sum and difference of terms with integer exponents.
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Answer:  
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7.
Simplify  
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Answer:  
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8.
Simplify  
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Answer:  
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9.
Convert the angle  
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Answer:  - 100(
10.
Find the exact value of  sin 90(
Answer:  1

11.
Find the exact value of  sec 60(

Answer:  2

12.
Find the exact value of  
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Answer:  
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13.
Given the triangle below, find csc(
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By the Pythagorean theorem, the length of the third side of the triangle is
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Thus, 
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Answer:  
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